McLaughlin Waste Equip., Inc.

P.O. Box 637 Galt, CA 95632

Voice: (209) 367-8810 Fax: (209) 367-8629



SALES ORDER

Sales Order Number: Sales Order Date:

Mar 19, 2024 Mar 19,2024

0007999

Ship By: Page:

1 of 2

To:

City of Watsonville Accounts Payable 250 Main St. Watsonville, CA 95076

Telephone No: 831-768-3129

Ship To:

Solid Waste Division 320 Harvest Drive Watsonville, CA 95076

Customer ID			PO Number		Sales Rep Name		
CITY OF WATSONVILLE					Hana Carrasco		
Customer Contact Tony			Shipping Method BEST WAY		Pavment Terms Net 30 Days		
Quantity	Item	UM	Description	TC	Unit Price	Amount	
8.0000	CFT1YD	EA	1yd Flat Top	TX	692.00	5,536.00	
8.0000	ACLBFLU-IN	EA	Locking Bar FL Complete Universal Installed	TX	0.00	0.00	
8.0000	/PAINT COLOR	EACH	Paint Color - Sand Pebble Beig	NT	0.00	0.00	
20.0000	CPT2YD	EA	2yd Pitch Top Container	TX	820.00	16,400.00	
20.0000	ACLBFLU-IN	EA	Locking Bar FL Complete Universal Installed	TX	0.00	0.00	
20.0000	/PAINT COLOR	EACH	Paint Color - Sand Pebble Beig	NT	0.00	0.00	
20.0000	CPT4YD	EA	4yd Pitch Top Container	.TX	1,052.00	21,040.00	
20.0000	ACLBFLU-IN	EA	Locking Bar FL Complete Universal Installed	TX	0.00	0.00	
12.0000	/PAINT COLOR	EACH	Paint Color - Sand Pebble Beig	NT	0.00	0.00	
8.0000	/PAINT COLOR	EACH	Paint Color - MRE White	NT	0.00	0.00	
20.0000	CHB6YD	EA	6yd Humpback Includes 12 Ga. Bottm, 14 Ga. Frt, Bck & Ends, 12 Ga. Banding, 16 Inseam Weld, Drain Plug, SW PRT Lids, No Lid Holder, Prime In & Out, Painted Out	TX	1,211.00	24,220.00	
20.0000	ACLBFLU-IN	EA	Locking Bar FL Complete Universal Installed	TX	0.00	0.00	
10.0000	/PAINT COLOR	EACH	Paint Color - Sand Pebble Beig	NT	0.00	0.00	
10.0000	/PAINT COLOR	EACH	Paint Color - MRE White	NT	0.00	0.00	
8.0000	CHB8YDLOW	EA	8yd Humpback Smooth	TX	1,520.00	12,160.00	
8.0000	ACLBFLU-IN	EA 1	Locking Bar FL Complete Universal Installed	TX	0.00	0.00	
						Continued	

McLaughlin Waste Equip., Inc.

P.O. Box 637 Galt, CA 95632

Voice: (209) 367-8810 Fax: (209) 367-8629



SALES ORDER

Sales Order Number: Sales Order Date:

0007999 Mar 19, 2024 Mar 19,2024

Ship By: Page:

2 of 2

To:

City of Watsonville Accounts Payable 250 Main St. Watsonville, CA 95076

Telephone No: 831-768-3129

Ship To:

Solid Waste Division 320 Harvest Drive Watsonville, CA 95076

	Customer ID		PO Number		Sales Rep Name		
	F WATSONVILLE	(52.5)	Shipping Method		Hana Carrasco Pavment Terms		
Custon	Customer Contact Tony		BEST WAY		Net 30 Days		
Quantity	Item	UM	Description	TC	Unit Price	Amount	
4.0000	/PAINT COLOR	EACH	Paint Color - Sand Pebble Beig	NT	0.00	0.00	
4.0000	/PAINT COLOR	EACH	Paint Color - MRE White	NT	0.00	0.00	
6.0000	/FOB WATSONVILLE	EACH	Freight to Watsonville	NT	825.00	4,950.00	
,						-	
. –				*			
						1	
		-				-	
*	*		~				
	~						
			~				
			,				
		[Subtotal			84,306.00	

Sales Tax: 7,737.21

TOTAL ORDER AMOUNT 92,043.21

City of Watsonville Container Purchase Quote

Antonio Banderas <antonio.banderas@watsonville.gov>

Tue 3/19/2024 2:22 PM

To:Renee L. Fernandez < renee@con-fab.com>

Greetings Renee,

Hope all finds you well.

We are interested in purchasing some containers and drop boxes. can you please provide me with a couple quotes, one for containers and another for the drop boxes. Let me know if you have any questions.

Quote request #1 standard roll off boxes

- 4 20cy open top standard
- 4 30cy open top standard
- 4 40cy open top standard
- all sandy pebble color.

Quote request #2 Front load containers

- 20 6yd Humpback (10 paint sandy pebble and 10 MRE white)
- 8 8yd Humpback (4 sandy pebble and 4 MRE white)
- 20-4yd Pitch top (12 sandy pebble, 8 MRE white)
- 20- 2yd Pitch top (all sandy pebble)
- 8- 1yd flat top (all sandy pebble)

Please reach out if you have any questions.

Best Regards,



Re: City of Watsonville Container Quote Request

Stephanie Jones <sales@hambickitrucks.com> Wed 3/20/2024 8:28 AM

To:Antonio Banderas <antonio.banderas@watsonville.gov>
Good morning Antonio, unfortunately we don't
build this type of Roll-Off. Thank you for
considering us.

Stephanie

On Tue, Mar 19, 2024 at 4:00 PM Antonio Banderas < antonio.banderas@watsonville.gov wrote:

Greetings Stephanie,

Hope all finds you well.

The City of Watsonville Solid Waste Division is interested in purchasing some containers and drop boxes. can you please provide me with a couple quotes, one for containers and another for the drop boxes. I have attached specs for our roll off hookup and 1yd flat top container.

Quote request #1 standard roll off boxes.

- 4 20cy open top standard
- 4 30cy open top standard
- 4 40cy open top standard all sandy pebble color.

Quote request #2 Front load containers

- 20 6yd Humpback (10 paint sandy pebble and 10 MRE white)
- 8 8yd Humpback (4 sandy pebble and 4 MRE white)
- 20-4yd Pitch top (12 sandy pebble, 8 MRE white)
- 20- 2yd Pitch top (all sandy pebble)
- 8- 1yd flat top (all sandy pebble)

Please reach out if you have any questions.

Best Regards,

